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Why did you write such o letter?

Change into passive voice .

g i 3 a letter written b ?
A Why such a letter was written by you? C) Why did *"uc“vﬂq o iage e Roce st -.zr?:nu:;
3) Why was such a letter written by you? D) By you why was: itten?

28) Choose the word that is nearly the same meaning as the word given in capital.

RESOLUTE
A) Solution C) Dangerous
B) Steady D) Stout
—-9) Antonym of Achieve ?
A) Fail C) Give
B) Gain D) Get
S50) Find the odd stentence out. Choose one alternative.
A) What hfll'd Iuck ! C) How did you spend your holidav?
B) What did he do in the evening.? D) How was your holiday ?

31) Read the following riddle and choose one correct option.
I'm tall when I"'m young.
I"'m short when I"'m old.
VWhat am 17?7
A) Tree
O | S Y o
B) Candle D; Stbizk

32) Match the following :
IA' ‘.B

(a) useful - (i) ... ion Sos.2 e T
O e T, Gefuanea.s
(d) perform (1v) ... ment
Answer options :
(@ 1) (© (@)
A) Gi1) (i) av) (i)
B) () G Gi o G E; i@ vy G
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33) Find out the correct form of conjunction in the following sentence

“1 allow vou to drive my car on condition that vou shall not over specd’™,
The underlined words are example of :

A) Co-ordinate conjunction C) Compound conjunction
B) Subordinating conjunction D)

Correlative conjunction

34) Use the correct pronoun tor thhe underlined noun in the following sentence

Lal Bahadur Shastri went to Tashkent and sipgned o Peance 'I‘runly;.
A) They C) He

B) ult D) She

2s) Choose the word spelt correctly.
A) Satestty

C) Satisfy
B) Satesty

D) Satasfy

36) Choose the correct option which indicates the correct meaning of t
sentence :

Sachin was looking gloomy as he was reading a sad poem.
A unhappy C) cheerful

B) good D) delighted

he underlined word in the following

37) Read conversation between the librarian and the student. Choose the correct option and complete it.
Student: Can you me the Oxford dictionary 7
Librarian : Sorry ! It's to someone
Student : No problem. I'll take it some other time.
5 QS}.:{‘_\,_ A) Sce, wipe C) Sell, expensive
= \\ B) Lend, brought D) Lend, issued
e)-_'._:}-—“‘*-_\

3.3) Choose the correct active sentence of the following statement.
Many vehicles are being looted and burnt by the agitators and hooligans.

&>

A) Many vehicles are looted and burnt by the C) Many vehicles are burning and looting the
agitators and hooligans. agitators and hooligans.
B) The agitators and hooligans have been D) The agitators and hooligans are looting
looting and burning many vchicles. and burning many vehicles.
. 39) Positive degrec - Comparative degrec
a) No other metal is as heavy as lead. b) Leadis heavier than any other metal.
Answer options :
A) Onl g:i) is correct C) Both (a) and (b) are correct
B3) {:}“[;-’ (b) is correct D) None of the above

-

40) Which one of the piven options is correct nbout the given scentence?
-4 "y
ey : .r she or they have to attend the mecting. _ '
;\F“II:"I‘ ?:L 4 C) Use of “they™ in the sontence 1s wrong
: 1 aw .- -
E!'_)) \R:Enng ) Verb “have™ should be has
r
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41) Fill in the blank in the following sentence choosin

water in the tank - o

IS tHErc ccceeacccccssccccnns &
A) some e
B) any

42) Choose the correct substitute for the following sentence
He thought that he was safe there.

A) He thought him to be safe there. (E-;)
B) He thought about himself safe there. )
43) ‘At the crack of dawn™ means .....cc.ceceeeee -
A) very early in the morning )
B) accept the punishment D)

gz the correct option :

many
few

He thought himself to be safe there.
He thought himself was safe there.

both (A) and (B)
none of the above

44) Write the correct preposition in the blank space from the given options:

“Hari is inferior Ram in intelligence.™

A) than <)

B) to D)
45) They finished the work vesterday. (make interrogative)

A) Do they finish the work yesterday? C)

B) Did they finish the work yesterday? D)

from
against

Had they finished the work yesterday?
Have they finished the work vesterday?

46) Choose correct option after removing ‘too” from the following sentence..

It i's never too late to improve oneself.
A) It is very late to improve oneself.

B) It is never so late that one cannot improve
onesclf.

47) Antonym of Brave
A) Achieve
B) Gain

48) His father
A) died
B) saw

a long time ago.

C) Itis late that one cannot improve onesel
D) Is it late that one cannot oneself improv

C) Give
D) Cowardly

C) broght

D) Bought

49) Antonym of Regression?
A) Progress
B) Reversion

C) Backward

D) Static
50) Mcaning of “*Sce Eye to Eye' 72
A) To agree fully :
I3) Not agrecing fully C)Ina battle ficeld

D) Allgw
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